CFD FLOW SIMULATION

WINDSHIELD NG SPORT
REF.20886/20887

BMW S100OR
2021 -

Fevicy >




LOW PRESSURE

CFD FLOW SIMULATION REF.20886/20887

AIR FLOW & PREASSURE COMPARISON

OEM Frevicy >
WITHOUT WINDSHIELD WINDSHIELD NG SPORT

HELMET PROTECTION HELMET PROTECTION
% ) (5% )
UPPER BODY PROTECTION UPPER BODY PROTECTION
(18% (36% )
LOW BODY PROTECTION LOW BODY PROTECTION
(20% (58% )

TOTAL DISSIPATED PRESSURE WITH PUIG SCREEN IS EQUIVALENT TO 1,9 Kg

INCREASE WIND PROTECTION

22% WITHOUT LOSING Cx

AERODYNAMIC TEST CONDITIONS

SPEED 150 Km/h 94 mph
RIDER HEIGH 180 cm 5.9 ft
TEMPERATURE 20¢° 68°F
RIDER POSITION Standard
LATERAL WIND N o

Fevicy >

HIGH PRESSURE



www.puig.tv info(@puig.tv

WWW.pUigusa.com info(@puigusa.com

CARENABRIS NEW GENERATION SPORT / TOURING

285 mm

+235mm/+9,25in ?

+100mm/+3,94in

320 mm

evicy >




p"i www.puig.tv info@puig.tv

MHi-Tech Parts www.puigusa.com info@puigusa.com

M O U NTI N G I N S TIRWUOCTII O N S

REF 20886 CARENABRIS NG SPORT / WINDSHIELD NG SPORT

1Person

DESCRIPTION

Clpula Sport Sport screen 1 10852W/H/N/F/AM3

Soporte metalico Metal suport 1 SOP1P7-C--20886

Casquillo con valona @12xJ6,8x7,3 D12x26,8x7,3 Bush with flange 3 CASQUI-1A---750

Tornillo Allen M5x16 @11 1ISO 7380 M5x16 11 1SO 7380 Allen screw 6 TORNI-17380-493

3 Silentblock @12xJ6x9 B12x6x9 Silentblock 3 | AROPASACABLES-3
@)
oy
0

Tapodn tornillo M5 ISO 7380 M5 ISO 7380 screw cap 3 TAPON-------- 85




P"ig www.puig.tv info(@puig.tv

Hi-Tech Parts WWW.pUigusa.com info(@puigusa.com

INSTRUCCIONES DE MONTAJE - MOUNTING INSTRUCTIONS - MONTAGEANLEITUNG

1 2

DISASSEMBLY ASSEMBLY
DESMONTAJE MONTAJE

ASSEMBLY
MONTAJE

\ /ﬁ&






